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Instructions : (1) Figures to the right indicate marks of question.
(2) Use of simple calculator is allowed.
(3) Graph paper will be given on request.

Attempt any two questions from Q. No. 1 to 4 :

I. (A) (1) Whatis L.P.P. ? Give its assumptions. 6
(i1)) Explain the terms : 4
(a) Basic feasible solution
(b) Constraints
(B) Use graphical method to solve the following L.P.P. : 10
Maximize : Z = 8x, + 12x,
Subject to
X, +x,<9
X1 22,x,23

3x1 + 6x2 <36

X1, X520
2. (A) Explain the following terms : 6
(i) Keyrow

(i1)) Unbounded solution
(i11)) Slack variable
(B) Solve the following L.P.P. by simplex method : 14
Maximize Z = 5x+ 7y
Subjectto x+y<70,x+2y<100
2x+y<120,x,y>0

3. (A) Answer the following :
(i) How many numbers are exactly divisible by 5 between 11 & 321 ? Find
their sum. 5
(i) A man borrows % 11,00,000 from his friend and repays it in 10 monthly
installments. If each installment is 20,000 more than its preceding
installment, find the amount of each installment. 5

MA-105 3 P.T.O.



(B) Answer the following :

(@)

(ii)

4 @A) O

(i)
B) )

(i)

Find five numbers in G.P. whose product is 32 and the product of the last
two numbers is 108.

A refrigerator passes through three stages before it reaches to a customer
from manufacturer. At each stage the cost is increased by 10%. If the
manufacturer’s cost is ¥ 40,000, find the amount a customer will have to

pay for it.

Define the following terms :

(a) Slope of a line

(b) Intercept of a line

Obtain the equation of a line passing through two points.

Find the equation of a line passing through the point of intersection of
lines x — 2y + 15 =0 and 3x + y—4 = 0 and perpendicular to 2x — 3y + 7=0.

A line passes through (2, 5) and makes intercepts on the axis equal to

magnitude but opposite in signs. Find the equation..

5. Answer any five of the following :

(1) How key column is selected in simplex method ?
(2) What is degenerate basic feasible solution in LPP ?
(3) Give main drawback of graphical method to solve LPP.
(4) Identify the slack variable in following LPP :
Max : Z = 2x; + 3x, + 10x,

Subject to x; +2x; =0

x2+x3=1

X1 X9, X320

(5) Sum of n terms of an A.P. is 4n + 1. Find its 9™ term.

1
(6) Find the 12" term of the series $, 1,/3,3, o,

3 2y

(7) Find x and y intercept of the line 2 s

(8) A line passing through the points (7, K) & (4, 2) is parallel to the line joining the
points (-2, 4) & (-5, 3). Find the value of K.
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